COMPANY CASH FLOWS

TBV equation (1) (see TBV page 6), which is shown below, states that sources of cash must equal uses of cash.   
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If we rearrange (1), we find that the right-hand side of TBV equation (2a) equals the right-hand side of TBV equation (2b) (and we refer to both as Total Cash Flow, or TCF).  TBV equations (2a) and (2b), which are on TBV page 10, state the following: 
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Now let’s illustrate (2a) and (2b).  Below are cash flow data about a company (all dollar amounts in $million).   The illustration is meant to clarify the meaning of Total Cash Flow and Equity Cash Flow.

Case A.  Firm is financed only with common equity (common stock).   Dividends paid but there are no treasury stock purchases or new share sales.

	   CASH FLOW FROM OPERATIONS

	    + Revenues
	  + $800

	    ( Expenses
	  ( $600

	    ( Net capital outlays
	  ( $40

	    ( Net other investments
	  ( $30 

	    ( Change in firm cash
	   ($50

	    ( Taxes
	   ($44

	    = Total Cash Flow
	  = $36


	STOCK
	
	DEBT
	
	OTHER FINANCING

	+ Dividends
	+ $36
	
	+ Interest
	0
	
	+ Payments to other financing
	0

	+ Treasury stock purchases
	    0
	
	+ Principal payments
	0
	
	( Funds from other financing
	0

	( New share sales
	    0
	
	( New borrowing
	0
	
	= Net cash flow to other financing
	0

	= Equity Cash Flow
	= $36
	
	= Net Cash Flow to Lenders
	0
	
	
	


In accordance with equations (2a) and (2b) on page 1, the sum of the cash flows to equity, lenders and other financing ($36 + $0 + $0) equals the Cash Flow from Operations ($36). 

Case B.  Firm is financed only with common equity (common stock).  Dividends are paid, treasury stock is purchased, and new shares are sold.  

	   CASH FLOW FROM OPERATIONS

	    + Revenues
	  + $800

	    ( Expenses
	  ( $600

	    ( Net capital outlays
	  ( $40

	    ( Net other investments
	  ( $30 

	    ( Change in firm cash
	   ($50

	    ( Taxes
	   ($44

	    = Total Cash Flow
	  = $36


	STOCK
	
	DEBT
	
	OTHER FINANCING

	+ Dividends
	+ $20
	
	+ Interest
	0
	
	+ Payments to other financing
	0

	+ Treasury stock purchases
	+ $30
	
	+ Principal payments
	0
	
	( Funds from other financing
	0

	( New share sales
	( $14
	
	( New borrowing
	0
	
	= Net cash flow to other financing
	0

	= Equity Cash Flow
	= $36
	
	= Net Cash Flow to Lenders
	0
	
	
	


In accordance with equations (2a) and (2b) on page 1, the sum of the cash flows to equity, lenders and other financing ($36 + $0 + $0) equals the Cash Flow from Operations ($36). 

Case C.  Firm is financed only with common equity (common stock) and debt; there is no other financing.  Dividends are paid, and interest and principal are paid; there are no other cash flows to or from financing sources.   

	   CASH FLOW FROM OPERATIONS

	    + Revenues
	  + $800

	    ( Expenses
	  ( $600

	    ( Net capital outlays
	  ( $40

	    ( Net other investments
	  ( $30 

	    (  Change in firm cash
	   ($50

	    ( Taxes
	   ($44

	    = Total Cash Flow
	  = $36


	STOCK
	
	DEBT
	
	OTHER FINANCING

	+ Dividends
	+ $25
	
	+ Interest
	  + $4
	
	+ Payments to other financing
	0

	+ Treasury stock purchases
	+ $0
	
	+ Principal payments
	  + $7
	
	( Funds from other financing
	0

	( New share sales
	( $0
	
	( New borrowing
	  ( $0
	
	= Net cash flow to other financing
	0

	= Equity Cash Flow
	= $25
	
	= Net Cash Flow to Lenders
	 = $11
	
	
	


In accordance with equations (2a) and (2b) on page 1, the sum of the cash flows to equity, lenders and other financing ($25 + $11 + $0) equals the Cash Flow from Operations ($36). 

Case D.  Firm is financed only with common equity (common stock) and debt; there is no other financing.  Dividends are paid, new shares are issued; interest and principal are paid, and there is new borrowing.  There are no other cash flows to or from financing sources.   

	   CASH FLOW FROM OPERATIONS

	    + Revenues
	  + $800

	    ( Expenses
	  ( $600

	    ( Net capital outlays
	  ( $40

	    ( Net other investments
	  ( $30 

	    ( Change in firm cash
	   ($50

	    ( Taxes
	   ($44

	    = Total Cash Flow
	  = $36


	STOCK
	
	DEBT
	
	OTHER FINANCING

	+ Dividends
	+ $16
	
	+ Interest
	+ $18
	
	+ Payments to other financing
	0

	+ Treasury stock purchases
	+ $0
	
	+ Principal payments
	+ $20
	
	( Funds from other financing
	0

	( New share sales
	( $6
	
	( New borrowing
	 ( $12
	
	= Net cash flow to other financing
	0

	= Equity Cash Flow
	= $10
	
	= Net Cash Flow to Lenders
	 = $26
	
	
	


In accordance with equations (2a) and (2b) on page 1, the sum of the cash flows to equity, lenders and other financing ($10 + $26 + $0) equals the Cash Flow from Operations ($36). 

Case E.  Firm is financed with common equity (common stock), debt, and other financing.  Firm 3 on TBV page 13 shows the cash flows.     

	   CASH FLOW FROM OPERATIONS

	    + Revenues
	  + $800

	    ( Expenses
	  ( $600

	    ( Net capital outlays
	  ( $40

	    ( Net other investments
	  ( $30 

	    ( Change in firm cash
	   ($50

	    ( Taxes
	   ($44

	    = Total Cash Flow
	  = $36


	STOCK
	
	DEBT
	
	OTHER FINANCING

	+ Dividends
	+ $25
	
	+ Interest
	+ $20
	
	+ Payments to other financing
	+ $5

	+ Treasury stock purchases
	+ $10
	
	+ Principal payments
	+ $130
	
	( Funds from other financing
	( $10

	( New share sales
	( $24
	
	( New borrowing
	( $120
	
	= Net cash flow to other financing
	= ( $5

	= Equity Cash Flow
	= $11
	
	= Net Cash Flow to Lenders
	= $30
	
	
	


In accordance with equations (2a) and (2b) on page 1, the sum of the cash flows to equity, lenders and other financing ($11 + $30 ( $5) equals the Cash Flow from Operations ($36). 
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